%(t) = AX(t) + B, W(t) (9.342)

m(t) = C, x(t) + D, w(t) (9.34b)

e(t) = ¥(t) -C x(t) (9.34c)

Figure 9.4 is correct.

X(r) = A"X(r) + C,i(r) - CJ&(7) (9.35a)
W(z) = B, X(r)+ D] m(zr) (9.35b)
y(z) =&(r) (9.350)

Figure 9.6 is correct.

Full Information controller for 9.35:

X(r) = A ~CIG(r) |%(r) -C &(z); (9.373)
m(r) = -G(7)X(7). (9.37b)

X(r) =[ A ~C]G(7) |%(r) +C&(z); (9.373)
Mm(z) = G(7)X(z). (9.37b)
G(r)=C,Q(r) (9.38)

Convert equation 9.37 to the adjoint system.

X(t)=| A-G' (t, —t)C, |%(t) + G (t, —t)m(t);
e(t) =C,X(t)

G(t)=G'(t, -t), (9.40)



X(t) = AX(t) + B,u(t) + G(t) {m(t) - C,X(t)};

y(t) =C,X(t)

EQ—-B,, :Cﬁ-—

m(t) G J' o x(1)

FIGURE 9.7 The %.. optimal estimator

(9.41a)

(9.41b)



